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QUESTION 1

Which of the following authorities is sufficient for connecting to a database? 

A. SQLADM 

B. CONNECT 

C. DATAACESS 

D. ACCESSCTRL 

Correct Answer: D 

 

QUESTION 2

Which of the following is designed for continuous availability, increased throughput of many concurrent short queries,
and easy scalability? 

A. DB2 HADR 

B. DB2 pureScale 

C. DB2 Express-C 

D. DS2 Database Partitioning Feature 

Correct Answer: B 

 

 

QUESTION 3

BLU Acceleration is included in which of the following edition of DB2 LUW? (Choose two.) 

A. Direct Standard Edition 

B. Enterprise Server Edition 

C. Workgroup Server Edition 

D. DB2 Direct Advanced Edition 

E. Advanced Enterprise Server Edition 

Correct Answer: BC 

 

QUESTION 4
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Which of the following SQL statements will remove all rows from the table T1? (Choose two.) 

A. DELETE FROM t1 

B. DELETE* FROM t1 

C. DELETE* TABLE t1 

D. TRUNCATE TABLE t1 IMMEDIATE 

E. TRUNCATE TABLE t1 

Correct Answer: AB 

 

QUESTION 5

Consider the following sequence of events: 

Eddie grants SELECT WITH GRANT OPTION privilege to Mike. 

Mike grants SELECT privilege to Jeff. 

Eddie revokes SELECT privilege from Mike. 

What will happen to Jeff\\'s SELECT privilege? 

A. Jeff\\'s SELECT privilege will be revoked 

B. Jeff\\'s SELECT privilege will be retained 

C. Jeff\\'s SELECT privilege will be retained only if he has ACCESSCTRL authority 

D. Jeff\\'s SELECT privilege will be retained only if Eddie has ACCESSCTRL authority 

Correct Answer: A 
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